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The figures in the margin indicate full marks. 
Candidates should answer in their own words 
and adhere to the word limit as practicable. 
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WEST BENGAL STATE UNIVERSITY 
B.A. Honours 4th Semester Examination, 2023 

HISACOR09T-HISTORY (CC9) 
HiSTORY OF INDIA (1526CE-1757CE) 

GROUP-A / frs-$ 

Answer any two questions from Group-A 
Each answer has to be written within 250 words approximately 

Assess the importance of Abdul Hamid Lahori as a historian. 

Was Sher Shah really a precursor of Akbar in the field of administration? 

Why did Shah Jahan intend to conquer Balkh and Badakhshan? 

GROUP-B/f 

aumdar Menoria/A 

Answer any two questions from Group-B 

Was Aurangzeb's religious policy primarily determined by political considerations? 

What were the differences between the 'khudkasht' and the 'pahikasht' ryots? 

Each answer has to be written within 400 words approximately 

Evaluate Travels in the Mogul Empire' written by Francois Bernier. 
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How did Nurjahan influence imperial policy during Jahangir's reign? 

Explain briefly different categories of Zamindars in the Mughal period. 

Write a brief essay on Mughal Court Painting. 

Describe the various aspects of Shivaji's administration. 

GROUP-C/fs 

Answer any two questions from Group-C 
Each answer has to be written within 600 words approximately 

Assess the achievements of Babur as the founder of the Mughal rule in India. 

Critically analyse Akbar's religious policy and explain the nature of his Din-i-Ilahi 
in this context. 

How did the agrarian crisis contribute to the decline of the Mughal empire? 

Examine the revenue policy of Murshid Quli Khan. 

What were the main issues of conflict between Siraj-ud-daulah and the English East 
India Company? 
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